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Algebra 1 - Chapter 3B
6raph the linear

Lesson 4

Name:







Algebra 1 - Chapter 3B
Lesson 4

Find the x- and y-intercepts of the graph of the linear function.

5. 3x + 6y = 24 ] 6. -4x + 8y = -16
3OHay=a4 | y-nts A () +3y = -\
blj =aY X-104 > B 3\(;:’:,“" |

=4
X +(0Lg;a‘-l | Yyt A0Y= -l
3x=ay =Yg = -l
\('—?g Y=4
7. -6x + 9y = -18
"(D(D\‘qu :wl%
q‘j%fﬁ%

txﬂ\(lo\: 43 X‘t?L )
~(oX=-13 X
%X=3 x=-4
Use intercepts to graph the linear equation. Label the points corresponding to the intercepts.
9.4x + 6y = 12 10. -2x + 6y = 12
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' :{A‘Igebra 1~ Chapter 3B
Lesson 4
11, x+2y =7
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13. -12x + 3y = 24
v} 7]

l» i y v I

P

73

3

/3

1

O3 <71 0| 3 =1 = - 123
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14, -2x +y = -4

X=-Y3







Algebra 1 - Chapter 3B -
Lesson 5, Day 1

Name \/

Date
Describe 1'he slope 04 the line. Then find the slope.
RN Y 2l LA
< - - /{
=2 N 2 = Vi -
< / 2 4 | x
T2 : (1, -1
=<2
Y2, =2 b ANN

2 .’2: Posrhue, Sope.
Negortive Sope. S, 3

A 4. Ayl
< > A 31
2 > 'x ¢0.3)
| [
T2[C. =37 LN
(=2, —3)

(5, - 1)
e 90pe.

2 3 C—:\) ﬂ_
ama\ D 05 -9

w O
& &
_% B






Algebra 1~ Chapter 38
Lesson 5, Day 1

The points represented by the table lie on a line. Find the slope of the line.
6. ‘

3 x | —1 2 5 8
4 v | -6|-6| -6 —¢
"[0‘6’10)_ O "‘O
-1-2 ~ 73
7 8.
x| ol o]l o ' 0 x| —a| =3 =2 | -
y| -4 0 4(8 2 | =5 [—12] =19

, y
5o ARl
— O -‘tbs

6= “ea) T

9. The graph shows the distance Y (in miles) that a bus travels in x hours. Find and interpret the
slope of the line. o

 BusTp R0-(,0 _ Leo - L0

T 150} a-|\
@ 150
= (2 120)
£ 100 % Rbtmve,\s (D omesy (n A A oour.
: ; ey o WO enpn
g 5041, 60) (= ‘\'T&UE,\QS&
B
00 1 2 3x

Time (hours) e







Algebra 1 - Chapter 3B '
Lesson SiK }
Name: e ’ Date

Graph the linear equation. Identify 'rhe x-intercept. 6&0 Fﬁ‘ L
l.y=-x+7 2.y=4x+3 ) ’39
™ S\op: 7y > |

™,

IR j- eI\ e
‘&x

1 YNt T

3.y=2x







Algebra 1 - Chapter 3B

Lesson 5, Day 2
5.3x +y=-1
3







Aigebra 1 - Chapter 3B

Lesson 6, Da%
Name: \/

Date

Use the graphs or nfor'ma'hon provided of 7 and g to describe the transformation from the gr'aph

of £to the graph of g.

L (g0 = 00 + 2]
] /i
ﬁx} = —2x \2 4 Dp
“= 2 [ x
~2
Yy [N(Y
3. f) = 2x + 4| T}y Reg\e()(.
\| 21 -
NN Y-OXIS
PINea -2 [ [x
f—\f“—‘-ﬁ-——z-—
hix) = —f00 N

3. f@)=3x+3; g®) = f(®) -3

Trosee. 3 p0ids AN

5. f(x) = -x - 2; g(x) = f(x + 5)

Tosoke 5 unys \eSy

2. (900 = flx + 8)]

TN/ troe Q units B -honsiocte Y

2 s esy

1A

(fx) =x -3

-7

A

* N/ (et
1
i

Thix) = f(—x)) \/—-QKIS

-2 \| 2

A
HLYINCT
fix) = —3x + 1]

4. f(x) = -3x-4: g(x) = f(x) + 1

Tonsede | unirop

6. f(x) = #x - 5; g(x) = f(x - 3)

\mﬂ%‘me % wids
g






o e
Algebra 1 - Chapter 3B
Lesson 6, Day 1

7. in = -5 - x; g(x) = f(-x) 8. f() = 1x-2 g(®) = —f(x)

eS\eck N-OX1% TReflect X-0x S

Write a function g in terms of £ so that the statement is true.
9. The graph of gis a horizontal translation 2 units right of the graph of f.

%CX\: $<-3)

10. The graph of g is a reflection in the y-axis of the graph of x.

%CX\ - 5 (" XB






Algebra 1 - Chapter 38
Lesson 6, D}ZF \l
Name: ﬂ

' hT —

Use the graphs or iLformaﬂon provided of 7 and g to describe the transformation from the graph

of £ to the graph
1.

of g.

ﬂx)=§X—1

| AY

\

iEr P

-1 1/

| A

4x

2 W 2

200

3. (h) = A3

AYi

[

—5

3

2N
Jerkee!

oy

@ﬂb
\{\t %Y,

[f(x)
/1T

A

NiEEE

;ﬂ)\(\‘{

5. f(x) = x; h(x){ x+1

H‘DV\ZDYTH S*Vdih bY a

Nusae |

x) = x;: h(x) = -@% 4
@‘% lect yo
horzot) S

oni uP

hwﬂ b/é

“ane 4 yms daw

%

Date

2. ) = —x
1A TT] k \'Z,O«\‘\bu\
2ﬁX):f% 1% (
I A ‘.
-3 [-1
IR b 4
h(x) = 3f(x)

%5 1 in} \}GV'\:\CO\-
N S \ﬂdu%

(fd = 2§

6. f(x) = x; h(x) =

Uerheol sﬂ@u\/bé’ Y
‘*f(l}f?‘a\&lve, dUNT of _4

8. f(x)=x: h(x) = -‘-é +?)

keBect Yoois )
\)GH"COL{ (nk Oy 2.
s 3 um%s\ St






Algebra 1-— Chapter 3

Lesson 7, Day 1 K fpv
| |

Name:
i

Date

)
Graph the Function, Colpar‘e the graph to the graph of f(x) = |x|. Describe the domain and range.

Ld(x)= x| -4

2.R(x)=|x] +5
K

7

e 1 3|-a -39\
g s e A A3 . el
L ’ JOf- LN o|s
o 1. . V|- N L - N le'
PEEEEE L G Y EEASEEEEEEN U
e, = e i —-— : <:. ..:__; IS
. X — B
B . S -
-

Tons Aot Ao
NS VAN

24

3.v(x)=|x- 3|

(=]

Verhal Siekh by3






Algebra 1 - Chapter 3
Lesson 7, Day 1
5.h(x)=[x-6]+2
‘&Y
b
o -
-3
d
-
4
w3
o
R RS
T g

i O;iE\J : Mﬁ% o %&g Cunns ¢ g

oo

y bow ah ey
0 ol i &y i del Ll |
O W LA s

Werite an equation that represents the given transformation(s) of the graph of g(x) = |x|

7. Vertical translation 7 units down 8. Horizontal Translation 10 units left

{(Y\= %\ Q - |
T(&ig}l c\\@& -;ou*pe\b—q T%}ns\ )\% loSt = 1nput (x+10)

$(0)= [\ -] )= | x|

9. Vertical shr'lsnﬁl\by a factor of % 10. Vertical stretch by a factor of 3 and
a reflection in the x-axis.
Vb iy B > 0ubpul < Vbrk vty 37 oudpul <3
SO0 F\WK\ RS é\x} gk o
Refleck %ax s =
$0)= -3






Algebra 1~ Chapter Sﬁ
Lesson 7, Day 2 f )
Name: '

the function.

Lr(x)=1Ix+2]|-6

Tr(mb Lo Umﬁ‘\’ dﬂﬂﬁ
T2 auns ey

3.v(x)=-3|x+1| +4

Date

2.C(x)=|x+4]+4

10
g -

\1:;345553-9;10“

?é?\tck X—G&\ﬁ

’5
\ng\‘a \ U&\x\ \;,l‘?
VoS B vt

T 13 535678910

o
s b O =y val wat da] ap Ov e
M - . ]

f
&l

~oi IRNE - |
- .

T ans 4 un%s el
Tians 4 un{ri% 1<%

4. F(x)=|-x+1| -5

'Describe the transformation from the graph of f(x) = || to the graph of the given function. Then graph

LS TR SR S N N

S T
w-‘:‘J\-‘lU“r—C






Algebra 1 -Chapter3 -
Lesson 7, Day 2

Explain how the graph of each function compares to the graph of y = |x| for positive and negative values
of k, h, and a.

a Y=

GE SO = s o
9 KLE —> o dadN

" 1ETAS0 - A v\%\(}j
S Lo > o ey

c. Y=alx| . | ‘ - |
S0 LO - RSk xaxis + vertial Stretch
ordhninik
15 azOSNo Refleckion, ok shil verhicad
Fhiehch OF TN,

d. Y=ax] . ~ o -‘ b el Ve
C L0 ReSletk y-axs + horonid Sheh
OC SO W -
& a0 > o ReSlechion, Tt Shil 0t 207

SO SN,






Algebra 1
Lesson1

Name:

- Chazer 4

Write an equation

1. Slope: 2

Y-Intercept: 9

g—;a %X

3. Slope: -3

Y-Intercept: O

5. Slope: g

Y-Intercept: -8

3:5}3)(—3

2. Slope:0

4=>

Date

the line with the given slope and y-intercept.

Y-Intercept: 5

5- D><+5

4. Slope: -7

Y-Intercept: 1

3 “Ix+ |

6. Slope: '—%

Write an Equation of the line in slope-intercept form.

7.

-2 _ L
M2 353

= l(()} +0
a O'r\o

AY
4 7
L
< 2 | x
Y !
| | AY
PN 4
Y
2
(0, Qi
| YR

8) %x—r’&

4-o '-‘:‘L
30"

O= %(p)—r\o

8.

10.

Y-Intercept: -6

— l
g—

3xb

1y N\"g_—i’% a "4).]
O 3= '2103}\"0
) ~— @3 3=b
= U= et
2 | 4 |x ﬂ b
y L1
..Q et -
2” ﬁzl 5 —%‘:é - _%_ —@ a
// 5 ;—-a: O@\'\"\Q
V. L
Yy | ]




Algebra 1 — Chapter 4
tesson 1

Write an equation of the line that passes through the given points.

11. (3, 1), (0,-10)
o=\ _9a .-
O3 " "3

D=-3(3*
l0o=\D

13. (2, -4), (0, -4)

Write a linear function 7 with the given values.

17. f(0) =2, f(2) =4

0
4= Av
19. f(4) = -3, f(0) = -2
Rt O
M= “5- 9
3: -'}_-_‘)Q—g\

21. f(-2) = 6, f(0) = -4

‘3—%:!; 2-\_\ ~1o
M= ’—Q-t(‘,.g): - )

%:—S‘)( -4

12. 2, 7), (0, -B)

14 (-6, 0), (0, -24)

%—-\K\ﬁti -3

= ~%L§_%_+%\= ’—Q—E =-Y
3:: “'-Pi“aq

16. (0, 3), (-b, 25) %

=3
3 5.3 _ %  -L
m=-—2 = = = Z

% =Xt

18. ;f(O) =7, f3)=1

gl
M~ 55 = 5 = -9
(\,&’: —a&*q

20. f(5) = -1, f(0) = -5

~nd @ -G
Yé\zﬁtﬁ)—ﬁgﬁ\;?%
o-s

51%)\"§

22. f(0) = 3, f(-6) = 3



Algebra 1 - Chapter 4
Lesson 2

Name: ) _.,\§ Date

Write an equaﬂonq;nt-slope form of the line that passes through the giveh point and has the
given slope.

1.2, 1);m=2 2.(3,5):; m= -1

U-1=a{x-3) Y-S = \(x3)

3.(7, -4): m = -6 4. (-8, -2); m=5H

4 = (X1 19= S(x+3)
A b

5.(9.0:m=-3 6.(0,2:m=4

U =-3x-) -3 = Hx

Write an Equation of the line in slope-intercept form.

=3y oL5) . 5
7. Y A M= -1’:':;) =7 =7 8. k-.,.l.-vl.-: 57 M= -g- 5 {
T W -1 = X -3) N[ T 2% %3 = X+H)
1 3 | 5%~ N )
)= 9o g Y= #
-3 \ + | '

41 . 3
»Lt—:g == fa - 8’4 - L+
° A I B T S A
36 6, &) al :>:éL . || 2‘_! II:/‘/ g_
= = ZCXﬁ@) ST io}%" - %LX\—%

£, 2 \iH = *}”Xs - ,,./
% fli o | ¥x %'i‘:{ %a ‘f:‘m‘ ] % 9’}%?&'& k
U = - mAL |



Algebra 1 - Chapter 4
Lesson 2

Werite an equation in slope-intercept fori of the line that passes through the given points by using

point-slope form first.

11. (7. 2), 2, 1

13. (6, -1), B, -7)

M= -7 4—(_—:() = ’)

_——-—

e T757
(31 = a(m‘)
\\)@—\ = I%-12
-\

%:& PR

Werite a linear function 7 with the given values.

17. f(2) =2, f(l) =1

19. f(-10) = 4; f(- 2) 4
= ‘81(1\03 3 ‘b
U = O(x+)

!

Y=4

12. (6, -2), (12, 1)

@ - 2L
it b

14. (-2, 5), (-4, -5)
-5-5
W\" -L{AL@\ -
U-5= S5(x+9)
KQ., ) }/.L.\D

S22 =5

18. f() = 7. f(-2) = O
M = o1 . "l = l
95 ©

-O= &()w33
U, = X\
</

20. f(-9) = 10, f(- 1)--2
—ano_-\9
N= Jeay” =~

Yra= -2 (x 1)
g«w —E.x—i
Z,

Y="3x-%

— 2
T Q

-3

p—

a

-4
3



Algebra 1 - Chapter 4

Lesson 3
Name: Date
—~
retermine which of the lines, if any, are parallel
1. Line a passes through (-1, -2) and (1,0)
Line b passes through (4, 2) and (2, -2)
Line ¢ passes through (0, 2) and (-1, 1)
Lipea Ligln Lrec
0= - :1‘ -a-9 -4 _ -z -
M= M= Foq "3l megg =
P
Line o + ¢ aepaiell]
\——Zije ady+x=8 LineCL & ‘f}as Line a: 3y ~x =6 Lirg.0 33_\_)(
NQ L\ Line b: 2y + x = 4 % o Line b: 3y = x + 18 3 X b
u Line ¢: 2y = -3x + 6 \:ﬂ Line ¢ 3y 2x =9 m
' : 7 A & , \ '
\ = . = ZXX O
oot B2 A5 N s
) ' = :__)’(_,'t'cB = V= ' Ja
( . :'LH H ¢ o= R i L' i Cr %
- {/‘Iqe_,\@. aJ ,k,x__.-_l.;}»( Y - ‘ :;.( ;k ; »~,. ~ Fij - {
oex - c y
0z -x+H . L 2l 10y KC
‘z;gl = %j‘% “ A w—"j’: ,_;é {:)L)
1% - ¥, -
Write an equation of the line that passes through the given point aidgs—pur”lle to the given line.
4. (1,2); y=-bx+4 5 (2,-B):2y=3x+10 - f’.’i AW D
=5 8y =321 5‘“‘_33
= ’5(\\-\—b e o] . j‘ q ) :.31.’)
83=-5%% |\ o Gya] U:“M‘ R
XS A :-bx—‘— R 9-~.n.,..
i Mi/ :
6. (-1,3):y=2x+2 7. (18, 2); 3y x--12
m=a 5 R 'm( E 9
SR CIR 3g=3z )
3=72+0 >3 4:\) {*
+ao :}._x, TTM.!.— .'n—:‘"'
S Y= 3 =34
n-3
3



Algebra 1 - Chapter 4
Lesson 3

Determine which lines, if any, are parallel or perpendicular.

8. Line a passes through (-2, 1) and (0, 3)
Line b passes through (4, 1) and (6, 4)
Line ¢ passes through (1, 3) and (4, 1)

_lA&Q_ | Ling b H!,«_,‘_,i\,.@@sc:m
M. 2oL = .Q: \ RS- =3 e
- O'(-a\ [ - @.LE - & YY w L% [ - H'?E%

o

\ s
| No \m@% Qe L m@,\ S }
9. Line a: 4x - 3y = 2| (g 011Uy -3y = 2 1%? Line @t y = 6x - 2 L‘“Q'Q'L‘:l;fﬁ'g
Line b: y——x+2 "L\S( .»Lly Line b: 6:35: x Line o oy = -X
(— Line c: 4y + 3x = 4 :é%aﬁ"“\'&u\fa Line c: y + 6x = 1 h
- R . < e
S Yz B e g%xﬂ?\ Line ¢ \ﬂ*bxz\

| ter

Line ot ¢ aure @\Qeﬁﬂt( Nl

v

3

L‘ﬂtﬁ'q\(*z’x’_‘}’ﬂ Lines 0+ C» paven | :‘Eﬁﬂ)
LQA-:-SM:‘:L Linas pre cne 0{\@ oum

s Yyt S oMo are pRrpendicuy

Write an equation 6f the line that-passes T r'oug e given poi an IS perpendicular to the line
given.

11, (7 10); y——x—9 ‘ 12. (-4, -1) y——x+6
M= A) & LAB> 5 - - %

0= - a(j\‘r\f) . A=-EWD_

0T Ue-oxrd]) A =3tp R
4=\ 20

© ~4=\0
13, (-3, 3): 2y =8x-6 14. (8, 1) 2y + 4x = 12 \= L Y
a :8___&—(4 L‘ = B‘:\,“} FARA
-—53 o 2 ﬂj ’r X —“‘Bg “ l& y ’J
- = T .._  = f:l ~ 3 \2“ B
—~ - _\ - “
3= E_{(;%\—\\O //o‘{,_,\ L;(,, CiA x:» ,}‘( A : ':‘
3;5")5\0//:/A,K+——— m:-a*’z a <
“'3/4 - 7‘! = 4
13 > _ A
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Lesson 7, Day 1

Name:

Evaluate the function.

fx) = {x'—l- 3,

1. f(-3)

5(2)-
—_ \g .

\ -\ |

s

4. f(5)

oot 8

7. 9(0)

i x< —3 N + 4,
2. f(-2)
-at3

i

5. o(-4)
L)+ Y
4 44

LA

Date

ifx< —1
F-1<wx<?2
ifx>2
3. f(0)

o3

6. g(-l)
~-D+Y4

15
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Lesson 7, Day 1
6raph the Function. Describe the domain and range.

wr

. [ #x<2 oy {zx ifx < —3
- lx—6, ifx22 —2x, ifx>—3
Y/ | Y}
S
L0t \\
|
- \I\ - - \
| X y







Algebra 1—-Chapter 4
Lesson 7, Day 1

12. Jal s i 13. , .
x+2,  ifx>—1 Y= lax—4, ¥x>4
Y4 Y
I
f\‘
i
7
\

5 ¥







Algebra1-— Chapter 4
Lesson 7, Day 2
Name: Date

Write a Piecewise Function for the graph.

1 . 2 - _Q
. "M.- _ i AY L
I *=0, T4 |2 [l 2 x|as ey ¥ (o-1)
2 (0:3)+(10Y ; () ;o
v NELEASIAS 112 URE=cal
3 p, _}}E m= o “D i Jl 3 "‘%..’L_—‘}_,“" "f‘
=2 £ 1) N -4 D v\
LN Y-k '3 BN 1T Kﬂ;@ﬁ-L
i ‘ ; U’“ m%f\q—% o le Closed (\‘:\M\Q%} -
| 2 3,8 Oe%)a\\& — R
;7[: Z'%ﬁ‘* ;v X>D > A—)g-\ S xR %_;, ,Qi,.a'jkg ("qJ
o e Bz\obec\ S«,Q % Qxa) \m&»&/m a‘}v ;d
é:,() e @
L / -J-q
L_\L. & i. " ""( %3\
(P e A W & et
Y AN (98,
2 %\i{ 5—\:3 . i;\ 41
L] B N Ve LI
= TR 7% U3 =\ EL‘T
| -..-- \)‘_3: K:*g | W N
72 = Sy R il > | 2 |x
] oeeil ANEE

e
801G CECIGEP o orne)

M= 22 == - YD \Lx £
. ~i v LD
G% ~ 0 LX=D
C\;f\g?@ ga\ JLx LY
Y /\—j
B e ]
1 . 3 1§ \LXED
Vo 19703 saua |
\‘LXL%/‘ _ L T
| (—



Algebra 1 - Chapter 4

Lesson 7, Day 2
Graph the step function. Describe the domain and range.

ifl <x
if2 <x
if3<y
ir4 <x

AN A A

W A

X

L B

- X
B 6 0.

6.

2, f-6<Lxr<-5
—1. if—-3<y< -3
. if—-3<xy< -2
1. if—2<xy<0

-




